@ PTGROUP e

Taroso-cuenHoe ycrpoucrtseo Tuna AV

MHCTpYKLI,MFl no yCTaHOBKe U aKcnnyaTtauumm

AV type coupling device

Installation and operating instructions

Ra (Yes)

Cbém
6amnepa

Her (No)

Bumper
disassembles

MNoppeska
6éamnepa

Hert (No)

Bumper
cutting

ApTtukyn: Mapka n Mmopgenb asToMo6uns:
TOYOTA LC 300 2021-*/
TLT-21-991422000 Lexus LX600 2021-*

* - MogxomuT Ha koMmnnekTaumm ¢ 2021 r.B. NO HOCTOSILLEE BPEMS.
Suitable for configurations from 2021 to the present.



3HakomcTBO ¢ Bawum papkonom

Papkon TMna AV OCHALLEH BbICTPOCHEMHOM CUCTEMON AEMOHTAXA CbEMHOWM
yactv dapkona (Kproka) C KIKoUYEBLIM AOCTYMOM 1 COYETAET B cebe yao6CTBO
3KCMYATALMN U BEICOKYIO CTENEHb 3ALUMLLIEHHOCTN OT MOTEHLMANBHOM KPCXMU.
BbirogHbIM NPEenMyLLIECTBOM KOHCTPYKLMK dapkona Tmna AV g4erasgeTcs To, HUTO Npwu
AEMOHTUPOBAHHOM KPIOKE HO BTOMOGUIIE OTCYTCTBYIOT BU3YASbHbIE MPU3HOKM
YCTOHOBAIEHHOro dapkona.

YCTOHOBKAO U CbEM KPIOKA HE TPEeByeT KOKUX-NTMB0 MHCTPYMeHTOoB. Cnuctema
3ANMPAHKS KPIOKA HO MPUEMHOM YACTK GAPKOMA BBIMOHEHA C MOMOLLBIO CAELMNANBHO
Pa3PAGOTAHHOIO CTOMOPHOO MEXAHM3MA. [pUK YCTAHOBKE KPIOKA €ro dukcaums B
MPUEMHOM YACTU GAPKONA MPOUCXOANT ABTOMATUYECKW. [115 AEMOHTAXA CbeMHOM
yactv ¢apkona (kproka) TpedyeTcs BCero ABa AeNCTBUS: MOBEPHYTH KoY B OTKPbLITOE
COCTOSIHUE U YCTAHOBUTb PYUKY KPIOKA B MOMOXEHUE PA3BIOKMPOBAHO, YTO B
3HAYNTENBHOWM CTEeMEHM NMOBbILLAET KOMGOPT SKCMNYATALMKN GAPKOMA.

Kaxgein kprok dapkona tuna AV nogeepraetcs S0-4aCoBOMY CNELMAIbBHOMY
NCABbITAHWIO HA YCTANOCTb B 1A60PATOPUN NPpou3BOAnTENs. BO Bpems AaHHOro TeCTa B
TeYEHUU 2 MUSITTIMOHOB LIMKITOB UCTIBITBIBAKOTCS XAPAKTEPUCTUKM KPIOKA HA
COOTBETCTBME 3ASBNEHHbBIM TArOBbIM NAPAMETPAM.

OTO rAPAHTUPYET HAM, UTO KOXAbIN MPOAYKT MMeeT OAMHOKOBOE KAYECTBO.
KavecTtBO npopyKLumm Takxe NoaTBepxaeHo ceptudukatom Ne. E4 nonyyeH
NHcTuTyTOM cepTudmkaumm RDW B lonnanguu.

Meet your AV type coupling device

The AV type coupling device is equipped with a quick-release system for
dismantling the removable part of the device (towball) with key access and combines
ease of use and a high degree of security against potential theft. Advantage of the
AV type coupling device design is that when the towball is disassembled, there are no
visual signs of an installed towbar on the vehicle.

Assembly as well as disassembly does not require any tools. In these systems a
towball is mounted to the socket by a specially designed locking bolt. It can be
mounted by plugging the towball to the socket and it locks itself automatically. To
disassemble the towball, only two steps are required: turn the key to the open position
and set the towball handle to the unlocked position. Automatic systems significantly
raise the comfort of usage.

Each towball, before market sale, is subjected to approximately 50-hours of a
special fatigue test in producer laboratory. The test is based on checking its strength
by 2 million cycles under certain weight. It ensures us that every product has the same
quality.

The quality of our products is also certified with approval no. E4 received by
Certification Institute RDW in Holland.




.

-

[NacnopT usgenus

Product passport

TLT-21-991422.00




X1

A

Kopnyc mexanuama

et

KpoHLTEnH po3eTku
(Socket bracket)

M12x25

LleHTpanbHbI KPOHLWTENH Yeunutens KPOHLITENHA Kptok MexaHu3ma ObICTPOCHEMA
(Central bracket) (Bracket reinforcement) 6bicTpockéMa (Towball) (Towball socket)
5 x1| 6 x6 |/ x7 | 8 x13

M12x1,25x35

12

9 x13

Knacc npouHocTn MeTusos: bonT - 8.8, Manka - 8
(Hardware strength class: Screw - 8.8, Nut - 8)

characteristics
Tun (Type): A50-X

D(kN) Hkg)
16,5 140
T(kg) Alkg)
3230 |750/3500*

M12 80 |
- 212 J
Ve
TeXH nyeckKkue D= (g*T"A)/(T+A) - ropu3oH- D= (g*T*A)/(T+A) - horizontal
XAPOKTEPUCTUKI [ os sieroien | g ecis betiee e
Technical

H - MOKCVMMAsbHO JOMyCTMMAS
CTATUYECKAS BEPTHKATbHAS
HArPY3KA HA LLIAP;

T- TexHu4eckn aonyctmmasa
MOKCUMASIbHAA MACCA TAraya;

A- MOKCMMASbHOS MOCCO
npULEend no AAaHHbIM
npoussogutena TCY.

(* - ong npuuena,oéopyno-
BAHHOMO TOPMO3AMM)

H - maximum allowable static
vertical load on the ball;

T - technically permissible
maximum weight of the
vehicle;

A - maximum trailer weight
according to the AV type
coupling device producer.

(* - for a trailer equipped with
brakes)

J




-

Tpe6oBaHus K 6€30NACHOM IKCNAYAaTALMM:

SESESNSESEE

S

SN

S

SESEN

S

Mepen ycTaHoBkon TCY HEO6XOOAMMO YTOUHUTL BOBMOXHOCTb BYKCUPOBKM NPULLENA ANs AAHHOTO
CGBTOMOGWIS B PYKOBOLACTBE MO 3KCMTYATALMM.

YCTAHOBKY W akcnnyaTaumio TCY NpoBOAUTL B CTPOFOM COOTBETCTBUM C AAHHOM MHCTPYKLMER MO
YCTOHOBKE.

3o1r|peu_LoeTc9| YCTAQHABAMBATL M3fenne HaA Opyryto Mapky 1 Mmoaesnb QBTOMOGUNS.

YctaHosky TCY BbINOAHATbL B CMELMUANN3NPOBAHHOM CETPUGULIMPOBAHHOM YCTOHOBOYHOM
LeHTpe. 3anpeLLaeTcs BHOCUTb U3MEHEHNS B KOHCTPYKLMo TCY.

Mpn 06HAPYXEHUN KOHCUCTEHTHOM CMA3KM B MECTAX NPUNEranms G¢apKona eé HyXXHO yOAnu1Tb.

B HeKoTopbIX ABTOMOBUIISAX C MAPKTPOHUKAMM BO BPEMS €3[1bl C YCTAHOBIEHHbBIM KIPKOKOM
NAPKTPOHMKM MOTYT OBHAPYXUTb LLAP KAK NpensTcTene. B aTom cnydyae HOpo NnepeHacTponTb
nepenesns Paanyca OeNCTBUS OATUMKA UMK UX BbIKITIOUNUTL. [TAPKTPOHUKM paGOTAOT KOPPEKTHO
B Cly4Yde OEMOHTAXA CbEMHOrO Kptokd $apkona.

Cnepnyet yu4nThIBATb MHOOPMALMIO M3rOTOBUTENS TPAHCMOPTHOrO CPEACTBA O MOKCUMASbHOM
BEMUMHE HArPY3KM (MOKCUMAsbHAS MACCA MOSIHOMO MPMUETA 1 AOMYCTUMAS BEPTUKANbHAS
HArpyska HA Wap). 3anpeLlaeTcs NPesbILLATL AOMYCTUMbIE NAPAMETPbI CLEMHOMO YCTPONCTBA.

Bo BpeMst 6yKCUPOBKYM MPULEN AOMKEH 6biTb COEANHEH CTPAXOBOYHBIM TPOCOM (Lembio).

Kaxxoble 1000 kM cnefyeT NpoBepsTh 3ATHKKY BCEX COeAnHEHUN. PekoMeHayeTcs conepxaTb
LLIAP B YNCTOTE, MCMOMb30OBATH MIACTUYHYIO CMA3KY NMepep, KAXO0oM YCTAHOBKOW LLApAd U
NPVMEHSTb KONMAYOK. B cnyyae e3fbl 6e3 npuuenda HeOBXOANMO CHATb LGP Y YCTAHOBUTD
3AMyLLIKY BO U36EXAHWE 3ArPsS3HEHUS MEXAHM3MA. Bce MeXaHMYEeCKMe NOBPEXAEHNS CLEMHOro
YCTPOWMCTBA UCKITOYAIOT ero AAsbHerLLYo aKernyaTaumio. NospexneHHoe coegnHuTensHoe
YCTPOMCTBO PEMOHTY He MOANEXUT. B criyyae HapyLLeHUs NPABUI MOHTAXA WK HEMPABUIBHOTO
MCMOJb30BAHUS MPOU3BOAUTENb HE HECET OTBETCTBEHHOCTM 30 BO3MOXHbIE MOBPEXAEHMS.
Mepen KaXabiM MOHTOXOM KPKOKA ero NMpuéMHoe OTBePCTUE HEOBXOAMMO OYUCTUTL OT BCEX
BMOOB 30rPS3HEHUS U HOHECTU CUMIMKOHOCOAEPXALLYIO CMA3KY.

MpounsBogmTENb rAPAHTUPYET COOTBETCTBME UIAESNS XAPAKTEPUCTUKAM, YKA3AHHBIM B
nacnopTe, B TeYeHne rapaHTUMHOMO CPOKA, NPW COBMIOAEHUN TPEGOBAHUI MO YCTAHOBKE U
IKCINYATALMM.

MpownsBoguTenb He HECET OTBETCTBEHHOCTM 3a HOHECEHME YLLEeP6a UMYLLLECTBY TPETbUX WL, B
pe3ybTaTe HeNPOBUIBHOTO XPAHEHMS 1 SKCTITYATALMM N34enus.

CrneplyeT co6ntofaTh OTeYECTBEHHbIE NPABUNA opopmneHus TCY.

[OpPAHTUS HEe PACMPOCTPAHSETCS HA CYYau, KOrAa AedekTbl BO3HMKIIN MO BUHE NOTPedUTENSs
WK TPETBUX MWL, B PE3YNETATE HAPYLLIEHUS NMPABKU TPAHCMOPTUPOBKM, XPAHEHNS, MOHTOXA,
3KCMAYATALMK, O TOK XE BHECEHUS U3MEHEHWI 1 JOPABOTOK B KOHCTPYKLMIO.

NHcTpyKLmMs no ycTaHoske TCY, pekoMeHayeMas NpounsBoauTeneM, 6bl1d PaspabéoTaHA HA
OCHOBOHMUN TEXHUUYECKMX YCIOBUI CO OHS MOArOTOBKM TEKCTA. B crnydae nsmeHenn unm
MOOMOUKALMM NPOLECCa NPOaYKLUMM, O TAOKXE B CNydde pACLUMpPeERms npuMmeHerms TCY,
npon3esoanTesib BrpaBe BHECTU M3MEHEHNS B TEKCT V]HCprKLLI/II/I.




Ve

Safety requirements:

8 880 -

8 «

SES

S

SESES

S

Before mounting of the coupling device check the user manual and registration book of the
car whether the vehicle is equipped to tow a trailer.

Device has to be installed and operated in a car according to this instruction.
Do not install the product on another type of vehicle.

The installation of the coupling device should be provided only by specialized certified
service center. Any alterationor modification of the coupling device is prohibited.

Remove the insulating compound and underbody coating - if there is any - from the area
around the contact surface of the coupling device. In case you found the grease in the
contact areas of the towball, it must be removed.

In the case of vehicles equipped with parking sensors, ride with a mounted ball causes
detection it by sensors as obstacles. | In this case, adjust the sensing range or disable the
acoustic parking System. If using coupling device with removable ball, the acoustic parking
system should function normally when the ball of tow bar is not in the operating position.

It should be considered information provided by the vehicle manufacturer about the
maximum load value (maximum mass of the full trailer and permissible vertical load of the tow
ball) at the same time acceptable parameters of the coupling device cannot be exceeded.

The trailer must be linked with an elastic joint with proper durability (cord,chain).

Check the screw connections after driving approx. 1000 km and for loosening nuts, the bolts
must be tightened. Always keep the towball clean and lubricated with grease. Use the
towball shield. All mechanical damages of the coupling device preclude its further
exploitation. Damaged coupling device cannot be repaired. In case of braking the rules of
montage or improper usage manufacturer do not take responsibility for possible damages.

The manufacturer guarantees compliance of the product with the characteristics specified in
the these instruction during the warranty period, in case if all requirements to compliance
with manufacture installation requirements.

The manufacturer is not responsible for damage to the property of third parties as a result of
incorrect storage and operation of the product.

Follow national guidelines for technical acceptance of the coupling device.

The warranty does not apply in cases where defects appear due to the consumer or third
parties’ fault, as a result of violation of the transportation, storage, installation and operation
requirements, as well as changes and modifications into the construction.

Instruction for installing the coupling device recommended by the manufacturer in this
document was developed based on the technical specifications applicable at the date of
writing this text. In can be changed in case of introduced by the manufacturer modification
of the production process and in the case of extending the use of the coupling device.




UHCTPYKLMUSA NO YCTAHOBKE
Installation instructions

~N




LUAT 1.

CornacHo MHCTPYKLMKM NPOM3BOAMTENS
OBTOMOBMNS EMOHTUPYATE MIIACTUKOBYHO
KPBbILLKY C 3agHero éamnepa. A Takxe
OTKPYTUTE OBA HUMXHUX KPEMNNEHMs 3aaHEro
éamMnepa, ong AasbHenen yCTaHOBKM
komnnekta TCY.

MMomecTtuTe yeunurens KpoHwTenHa TCY
Mexay 6aMnepoM 1 6aKOM ABTOMOGUNS,
KOK MOKA3AHO Ha cxeme. CoBMeCTuB
OTBEPCTUS YCUNUTENS C OTBEPCTUSAMU B
6anKe ABTOMOBUNS, HOXUBUTE C BHELLHEN
CTOPOHBI ABa 60Ta M12x1,25x35 ¢ wanéamm
12 rpoBepHbIMUK M WanGamm 12. OTMETLTE HA

YTOGhI 3ADUKCUPOBATL KPEMNIEHNS YyCUIUTE-
ns.
BHumaHue! CoeguHeHus He 3aTarmeaTp!

STEP 1.

According to the manufacturer's instructions
dismantle the plastic car cover from the rear
bumper. Unscrew the two lower mounts of
the rear bumper for further installation of the
coupling device kit. Place the coupling
device bracket reinforcement between the
bumper and the beam of the car, as shown
in the picture. By combining amplifier holes
with holes in beam of the car, attach it to
the outside two sides M12x1.25x35 bolts with
washers 12 lockers and washers 12. Mark on
plastic place for the cutout and cut them
out, to secure the amplifier mounts.

NIACTUKE MeCTA A5 BbIPE3d U BhipexbTe KX, Attention! Do not tighten the connections!

LUAT 2.

[NoMecTnTe LEeHTPASbHbIA KQOHLUITENH Mexay
YCUIUTENEM KPOHLLUTEMHA U 6ANKOM ABTOMO-
61ns, KOK NOKA3AHO HA $oTO. 3aKpenuTe K
6éaske npwm nomoLm 6ontos M12x1,25x35,
a6 12 rpoBepHbIX U WA 12.

3aKpenuTe CHU3Y YCUUTENb KPOHLUTENHA U
LIEHTPASbHbIN KPOHLUTENH K 6A51Ke ABTOMO-
6uns Npw nomoLm 6ontos M12x1,25x35,
a6 12 rpoBepHbIX U WA 12.

lMpownsBecTy 3pUTENbHBIA KOHTPOJb M
3aTsaHyTb Bce coeguHeHus!

.

STEP 2.

Place the center bracket between bracket
reinforcement and vehicle beam, as shown in
the photo. Secure to the beam using
M12x1.25x35 bolts, 12 bushing washers and 12
washers. Attach the bracket reinforcement
from below and central bracket to the car
beam using M12x1.25x35 bolts, 12 bushing
washers and 12 washers.

Make a visual inspection and tighten all
connections!

Ve

LUAT 3.

YCTOHOBUTE MPUEMHKK Ans dapkona u
KDOHLUTENH PO3ETKM K LLIEHTPAIBHOMY
KPOHLUTERHY Npu nomoLLm 6ontos M12x25,
a6 12 rpoBepPHbIX M Wané 12.

.

STEP 3.

Install the towball receiver and socket
bracket to the center bracket using
M12x25 bolts, 12 lock washers and 12
washers.

r

LUAT 4.

YCTOHOBWTE POHEEe OEMOHTUPOBAHHYIO
KPBILLKY 304HEro 6aMnepa u 2 HUXHUX
KpenneHus 6aMnepa. BcTaBbTe Kptok B
MPWEMHYIO YaCTb GAPKONd, ero AANbHENLLAS
dukcaums 1 3anmMpaHne NpomsonayT
OBTOMATUYECKM.

YcTaHOBKO 30BepLUeHa!l

STEP 4.

Install the previously dismantled rear
bumper cover and 2 lower bumper mounts.
Insert the towball into the socket; it will be
further fixed and locked. automatically.

Installation completed!




UHCTPYKLMA NO YCTAHOBKE KPIOKaA
Installation instructions

~N




MNepen TeM, KaK UCMOSb30BATH ChEeMHbIN KPIOK, HEOBXO-
LMMO O3HOKOMUTBLCS C UHCTPYKLMEN.

BHeceHve n3MeHeHUM B KOHCTPYKLMIO CbeMHOrO KPIoKa
U NPUeMHOe OTBePCTME 3AMPeELLEHO.

Kakne-nnéo mexaHnyeckmne NoBpexaeHs CbeMHOro
KPIOKQ 1 MPUEMHOrO OTBEPCTUS MCKITIOYAIOT ero
OONbHENLLYIO 3KCMNYATALMIO.

[1ns MOHTOXA M OEMOHTAXA CbeMHOro kproka (1)
Heo6Xx0QMMO NMPUMEHSTb TOMbKO CUITY PYK. Micnonb3osa-
HWME OOMOSHUTENbBHBIX MHCTPYMEHTOB MOXET MPUBECTU K
MOSIOMKE CLLEMHOro MEXAHU3MA.

MponsBoanTENb He HECET OTBETCTBEHHOCTM 30 BO3HMUK -
LUME MOBPEXOEHMS B CITydae HECOBMIOAEHNS MPABUIT
SKCMAYATALUMM Y MOHTOXA CbEMHOMO KPIOKQ.

Kakgsir pas nocne yCTAHOBKM Cbe@MHOTO KPIOKA B
npreMHoe OTBEPCTUE HEOBXOANMO YEEeOUTLCS, UTO Bbl
BUAMTE 3eNIeHOoe MNoJie HA PYKOSTKE CbeMHOTO KPIOKA
(3), M IPUMEHWTL LOMONHUTENbHOE GU3NUYECKOE YCUnE
L1 TOrO, YTO6bl Y6eOUTbCS, YTO ChEMHbIN KPIOK HOAEX-
HO 3aKpEereH B MPUEMHOM oTBepCTUM (6).

CofepxuTe B UACTOTE 3AMOPHBIA MEXAHN3M CbEMHOrO
KPIOKA 1 MOcaiouHoe MecTo. Mocne AeMOHTaXa
CbEMHOTO KPIOKa ycTaHosuTe 3arnyLuky (1). Hanndune
NOCTOPOHHMX 3ArPSI3HEHN MOXET NMPUBECTU K HEKOP-
PEKTHOM PaBOoTe n3nenms.

OTCOEAMNHNUTE CHEMHBIN KPIOK, €CIN Bbl HE MNaHUPYyeTe
MCMOMb30BATH MPULLEN.

Please read the manual, before using the towball.

Any modiifications of the towball and the socket are
straightly prohibited.

Any mechanical damage of the towball and the socket
precludes its further exploitation.

You have to use only arm force to install and dismantle
the towball (1). Using additional tools may damage the
coupling mechanism.

The manufacturer is not responsible for damage caused
in case of non-compliance with the rules of operation
and installation of the towball.

) () Each time you install the towball into the socket, you
must ensure that you can see the green field on the
towball handle (3) and apply additional physical force to
ensure that the towball is securely fastened in the
socket. (6)

Keep the towball locking mechanism and socket clean.
After removing the towball, install the plug (1). The
presence of foreign contaminants may lead to incorrect
operation of the product.

J V) Detach the towball if you do not plan to use a trailer.

J




MNMpoussoamTeNb FAPAHTUPYET COOTBETCTBUE UL XAPAKTEPUCTUKAM,
YKA3AHHBIM B MACMOPTE, B TEYEHUE rAPAHTURHOIO CPOKA, MPW COBMOAEHMM
TPE6OBAHWI MO YCTAHOBKE W SKCMYATALMK. [APAHTUS HE PACMPOCTPAHSETCS
HQ Crydau, KOraa AedekTbl BO3HUKIIU MO BUHE NMOTPEBUTENS UIN TPETLUX KL, B
pe3ynbTaTe HAPYLLEHNUS MPABUI TPAHCMOPTUPOBKM, XPAHEHMS, MOHTAXA,
IKCMNYATALMM, O TAK XE BHECEHUS M3MEHEHWU 1 [OPABOTOK
B KOHCTPYKLMIO.

MpownsBoamTenb He HECET OTBETCTBEHHOCTM 30 HOHECEHWE YLLEeP6a UMYLLIECTBY
TPETHUX NULL B PE3YSETATE HEMPABUITBHOIO
XPAHEHWUS U SKCMNYATALMN U3AENUS.

The manufacturer guarantees compliance of the product with the
characteristics specified in the manual during the warranty period, in case of
installation and operation requirements compliance. The warranty does not
apply in cases where defects appear due to the consumer or third parties' fault,
as a result of violation of the transportation, storage, installation and operation
requirements, as well as changes and modifications into the construction. The
manufacturer is not responsible for domage to the property of third parties as a
result of incorrect storage and use of the product.

CBUOETENIbCTBO O NPUEMKE
CERTIFICATE OF ACCEPTANCE

[aTa ynakosku Lramn OTK
Packing date Stamp of the
Quality control

CBMAOETENbCTBO O NPOLOAXE

SALE CERTIFICATE
[aTta npopoxun LUramn marasuHa
Date of sale Store stamp

[OPAHTUIHBIR CPOK 12 MecsLEB C AATbI PO3HUYHOM Mpoaaxu. CoxpaHsitTe
[IOHHbIA [JOKYMEHT B T@YEHME BCEro raPAHTUHOIO CPOKA.
(Warranty period is 12 months from the date of retail sale. Keep this document
during the entire warranty period.)





